EARAROBEEIERT — 2 N— IBISH —F 201955A8H (K) SHEHEIA

(xwlw | lmEmml - |5 5) wom 8

IGRC3— Y5%R4mt

[A~&£] 1 7% :300,000 W ~ 23&:84,000F  37#&:42,000 W  43:30,0008" 5 3&:24,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N Fia— 132, —2-2— . — KEE= (E@)
1 6 QAT FIH 4 5 o0 1(3_2)5 2-2-2-2 | 39.2 5 423)2 Y
o140 B:I7I/48h5 [ cpae]
— ihEd :32. -1-1- . — [EEF— (FkR)
2 4 TA—AT S5 4 5 i (173925) 1-1-1-1 | 39.3 2 (4+210) PR
LHIRT TR BNYTHTTN- b VAN ¢
5 4 7 | WHEBEX 1:32.7 4-4-3-3 | 39.2| — 4 469 | MEHRE (HH)
3011 Hh/TIV— 54.0 (1 1/2) +2) HREF
L:T7LeFFE2T« BT LILEZ—b pNCTie]
. 7 | AR 1:33.3 5-5-6-5 [39.6| — 3 504 | LUEE=E (FEH)
4/5|5 F=Z" & 4f 56.0 (31/2) -2) EHES
R:F 4 N=—H b= BIILTARHLy b HET7— L
S KA w2 7 | WEREKR 1:33.5 7-7-6-7 |39.8| — 6 486 | BEES (EH)
EE 2 EZ73Iy RNZ— g 56.0 (1 1/2) (+4) (#%) &< 5a-KL—-Y3>
R:IXFvX b BITYLTILTIR 114505
o . N AR :34. ~6-5— — fEiERER (EH)
6lglg|¥avdxJLZR "o | Rah 1(354)4 5-6-5-6 | 40.8 8 ?_gf) el
L:7A7% B:ANLEZRL JEL EE
= . it 6 | BREE 1:34.4 8-8-8-8 |40.4| — 1 433 | AREERAL (EM)
] 3| 77v72R 54.0 (7E) o) |18 FFE
LihY/ RI4T BALTII2R LA Eae]
8,5,=F o5 | AEE 1:34.6 3-3-4-4 |41.2| — 7 462 | HictEiE (k)
sl 7| TT>>777%~ 755.0 (3/4) “2) ) Tr-ZhETa>
RIALLTROY BIALLTTILY SRS
@ 1—F—@&BIEf
13=zr= 4,6,7,1,(5,8),2,3
2o=7r= 4,6,7,1,5,8,2,3
30—+— |4,6,1,7,8,(2,5),3
43—+ — 4,6,1,7,5,8,2,3
[ RN
BB 6 1,940 714K 4-6 890M B E 4-6 4,280 &R 1-4-6 3,360
8 B 6 390F 1-6 1,090M B H 6-4 12,500M K31 6-4-1 42,980
4 140MH 1-4 280M
1 1609

ABICOVWTRDTEEERROODE. TR LIV,




